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— SN B PN S AE 2H M
60,0002 *105 600
—e=el sy 8,2 AR
30,0009 +303] 900
o2zl 1,440
~SUYX Y SHIIHANY BSHS S
=X RN 8,0002 x5 +32! 128 1,440
02 232l 14,376 14,376 0
o2zez ¥ 14,376
— NSy I £ 501 2E2
2, 7002 %3000H * 122 9,720
~SBHNSH SAB2ANAEY X B4
308,000 *122 3,696
—RHYX ZEEHE ASE
80,0002 *1CH 128 960
202 01t 7,200 7,249 ~49
NIERTEL 7,200 7,249 ~49
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el NASXHSE URAMHA MB(REMASESH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OXg REYX & 2 2d AAdH2 22
o4 bl 150,000 »2H x53| 1,500
OdHFAS =& 22A0WHl 150,000 x2H x53] 1,500
OMIZIE U OE AKX AHH 22
(©h:]] 150,000 »2H x63| 1,800
OXtsxt2clyd Xt N @ ol
20,000 «6H 22 «12& 2,400
301 et a = 2,700 2,700 0
12 JIEtEA 3 2,700 2,700 0
ORHEXXE delg Na 30,000& *90CH 2,700
ANSAAEHE 20 - F= 176,934 203,764 226,830
201 Let24d] 159,434 159,434 0
01 At 22l 44,459 44,459 0
O&FIIZAL AHE & D2tZ 1 CHLHE M
80& *2,00001 122 1,920
OSREE It M M 70&+7000H+122 588
OZMXAH NElE 2F DXAM M=
702 *3000H =123 252
O2AREd 017ty UEHZE 2F AXMN M=
702 +8000H =123 672
OUENE 2 DXAM HME 70&+4,00000~12& 3,360
OuEig OXA £5E dIOoIMd Zeld &4 +
2 237,000 »3CH x6 2 4,266
OXDXA Qletel s /=8I 428 ¢
237,000 »1CH x4 3 948
OGXXSHH =82 S 160,000& «1CH =122 1,920
OF=& M= 50& =40, 0004 2,000
OLEHE MEXE JEEE WS M
703 «32000 x12& 269
OMgetE M 230&=10,0000H 2,300
Oz X LMA2INZ SHIHE HMAH
110,000 =6 23] 1,320
O= &l 4,320
- DEDEUE ALY AL EX S2 0
AlH| 8,000 x5H x9U x 128 4,320
OLEHE & AN S22 MH
100& *20,0000H 2,000
OHXEZE 2 ISR 0=
15,000, 000& 14! 15,000
ORSH AR(HA)SI 52 +42
3,000& x6003| 1,800
OtEHE NAER 82 2t M
110,000& *6IH =12 660
OGXIXE Mt 18,000& 43|« 12& 864
02 =24l 114,975 114,975 0
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S ANSAAS=2 UFMEA HB(LSAIEEESH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OXNSXIUHE BUE 103,680
—SREZ 2,700 2 5000 x12& 81,000
—dERE g 2703 *7,00000 = 12& 22,680
OXezst28 (58 1,000,000& = 1CH 1,000
OXNSXHEAIE 25,000& *23] 50
OA28S5E RFH 5,000,000& = 1CH 5,000
OgGXANAE RXE 300,000& x12& 3,600
OgXXE =68 S 1,100,0003 * 14 1,100
O XS XA 65,0003 =1CH 65
O3ESsUE SHe=a 40,000& =12& 480
202 04| 7,500 7,330 170
01 2LHOHI 7,500 7,330 170
OXNsSx WEfE D& MEgH A L He2| =
2 E&H0bI 150, 000& *4H x53] 3,000
OXNSA HIXXE dMEAN Z2A=E O Ul
150, 000& *5H x6 3] 4,500
303 A2 10,000 10,000 0
01 ZAZ 10,000 10,000 0
ONEE M= = LAS
500,000,000& *1% 5,000
OMHE MEXY HSE X B2 LA
5,000& =1,000CH 5,000
HHSAAL (NS IUHESEALRA) 338,370 314,495 23,875
QIHSAH (N EMAESLZ H) 199,630 177,319 22,311
ol 2A | 199,630 177,319 22,311
101 @121 199,630 177,319 22,311
03 2IAHALZZXHE = 176,917 155,502 21,415
ONSXHEE HEY g2 X 36,007
—-JI=23 1,729, 1303 x 15 »12& 20,750
—2&54 1,729, 130& * 1Y «5%* 128 1,038
— &2 1,729, 130& x 15 x4 & 6,917
— X< 104,160 *1H x10L 1,042
— @& E Y| 1,729, 130& 14 *60%*23] 2,075
— N2 100,000& *1H x12& 1,200
— wWEH| 50,000 x1H 123 600
=] 80,000& x1H x12& 960
- X84 80,000& x1H x12& 960
— A2l == 19,3503 *2 Al 2t x12& 465
O IS gf8=x 105,941
—-JI=23 1,729,1303 38 »12& 62,249
— &2 1,729,130 x3Y x4 & 20,750




2N AASUHSEARL
H: HH2IAH(NSUHEEARL)
el QlHE2HH (RSAISSLESIAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-5 1,729,130 1 »5%* 122 1,038
— QX 104,160& 3 10 3,125
— ZE S| 1,729, 130 *3H x60%*23| 6,225
— AR 100,000& 3 128 3,600
— WSl 50,0003 3% » 123 1,800
— =2l 80,0003 x3H 128 2,880
—X23xY 80,000& x3% 123 2,880
— ANzt =g 19,3503 *2A| 2H+3H « 128 1,394
OEAE g8Ex 34,969
—Jles 1,729,130 18« 12& 20,750
— &0z 1,729, 130& 1H 42 6,917
— =g 104,160& 1H 10 1,042
— BE S0t 1,729, 130& » 1 x60%*23] 2,075
— ey 100,000 x1H x12& 1,200
— Sl 50,0003 x 18 «12& 600
— = A 80,000& x1H 128 960
- X324 80,000& x1&H 128 960
— Al2tel g 19,350 »2 123 465
04 D12t Z2XEES 22,713 21,817 896
OFAr2el o8 22,713
—Jlas 66,8003 x1H*x22U 123 17,636
- =54 66,800 x1H 42 <123 3,207
— 2hAlH| 2,0003 «1H 22U «128 528
-2 66,8003 x 1 128 802
—MEUz BEXdRH 45,0003 x 18 «128 540
I2BU(NENSSANPA)(RENSSLEN) 138,740 137,176 1,564
2B (MHSAHEFMRL) 138,740 137,176 1,564
201 Let24d] 88,780 87,289 1,491
01 AL 22| 57,395 57,104 291
O+t 48,983
— &Y JE NRES 100,000& = 18H 1,800
—SAJRNB(EHLEY 72 S)
480,000 »2CH x53] 4,800
—SASNFY 23,0003 x 122 A %128 3,312
—ZEfH ¥ A ARS PY
400,000& »203l 8,000
—QEI AZE FY(EE EX,232)
910,000& »24! 1,820
- AESHESS X HE S(228)
60,0003 x16H «12& 11,520
— M3l S FE AEA M
1,000& x6& *1,0000H 6,000
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—E0 RN O5IE 1028 1Y
1, 1002 50004 550
—SHUIIE X 7Y 95,000 10 A 950
—JAEsEH M 2 P2 1,500& *8000H 1,200
— 4220 22l 56,0003 x2CHx12& 1,344
— &3t E4 203 =15,000L 300
—NSAHEEMRL SEY S BA2EES
2U(ZSH 85 S 78) 150,000& 122 1,800
— 203l =2 130,000& = 12& 1,560
—Hidl Zelg(eaes staa)
25,0002 401 x4 & 400
—HSUIIHE JIAH ¥ NESEYS HdEAIA
8 ZXZEH |FAE=H 200,000& x53| 1,000
—A8IE 2HI 7Y 300,000%! +1CH 300
— +AANNBTAN ABIE U2 +42
232,695, 390& *40%*2. 5% 2,327
ORIERE =AD ¥ BA AHE
100,000& 1200 & 1,200
ONEX LB THPY 30,0002 102 300
ozl 6,912
-~ NHENSEYD 2 S2 ALYl
8,000& x18H 43| x 128 6,912
02 232gHl 31,385 30,185 1,200
O 3322 % XA 20,178
—EI3MNERE=S 50,000 »23| 100
— MNEE 80,000 *1CH * 122 960
—plEo ME AU ABE
37,4003 »23| & +12& 898
—&IAER 1,100,000& »12& 13,200
—&ot=E MEEZ 300,000& =122 3,600
~NSHSSADL NS4S WIRHE
700,000& x13] 700
— QIR Mg olfHY 3z 30,000&x12& 360
—RUEYS AEE 30,0003 «1CH+12& 360
OA&EHl s Xl 11,207
—d2%N 2 FFE 1,101m x7,000& 7,707
— CCTV & X2 =l 500,000& +7CH 3,500
202 Oddl 45,000 44,887 113
01 = LH 4 1 45,000 44,887 113
OXNsSXUHEELESR =& 2UHAHHI
20,0003 «18&H 103 x12& 43,200
OXNsXUHEELESR =& 220
150,000 4 H x33| 1,800
301 gt 4= 4,960 5,000 A 40
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